MATHEMATICS TEST B m

|Pupi|'s Name | |Date of Test |
DATE OF BIRTH

| School Name | Day Month Year
PUPIL NUMBER SCHOOL NUMBER |

[0] [0]| January — 1990 —

[11 [1]| February —_ 1991 =

[0] [0 [o] [0] [0 [0] [0 [o] [o] [0] [0] [0] (o] [2] [2]| March | 1992 4

oy oy onrooroneon oy or oy omonr oo [3] 31 April = 1993 =

21 2 [2 21 2 [ 21 @ [2 2 @2 [2 [2 [4]| May | 1994 —

Please mark B BB R R e B BB R B e 6 [5] | June = | 1995 =

H H [41 41 [4 [ M M@ 41 [41 [4 [ [ [41 1[4 [6] | July | 199%6 =

like this =. Bl (5 (5] [5 8] [5] 5] 5] 151 [5] 5] [5] [5] 71| August 3| 1997 =

[6] [6] [6] [6] [6] [6] [6] [6] [6] [6] [6] [6] [6] [8] | September 1| 1998 =

7w mmm [ mmmmmmm [9]| October | 1999 &=

B [8 [© [8 [8 [ B [8] @ [8 [© [8 8] November 1| 2000 [

o] [© [© [©@ [@ [9 O [© [© [© [©@ [©@ 9] December 1| 2001 I

800 1 A £11.78 -10°C 3 15 minutes 65 [

80,000 1 B £12.02 10°C — 85 minutes [ 45 1

8000 C £11.74 -12°C 3 75 minutes 1 9

80 D £11.76 -13°C 3 45 minutes 1 55 1

8 1 E O £12.24 12°C 25 minutes 1 10 3

R\ SR c R IR |

quadrilateral 20,648 1 5 3 100 = A 23
trapezium [ 26,048 1 6 1 101 3 B 16 1
hexagon [ 26,480 7 3 105 C O3 25 1
pentagon 1 26,408 9 ™ 11 = D 21 3

prism [ 2,648 10 — 10 E 20 —
8 1 30 = A A £6.20 68
5 3 90 B B £1.85 1 91
3 3 70 = C = C = £1.30 = 127
10 =3 75 D = D = £0.65 136
12 45 E E & £1.10 227
31 3 200 grams [ £196 3,1 = 124 m A
30 = 8 grams 1 £298 —1 (5,7 = 952m B
29 [ 1gram [ £468 1 6,1 — 62m 1 C O
32 40 grams [ £144 (1,3 —= Om D
25 800 grams I £36 1 4,3 = 9% m E O
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72 1 A 144 12 1 13 1 2 1
4 1 B 1.36 1 9 1 14 3 3 ™3
6 1 C O 1.37 10 3 15 1 4
64 D 1.35 O3 8 1 16 5
12 1 E 3 1.30 — 24 17 3 6 1
70° 3% 511 58 kg 9.2 1
90° 1 10% 47 [ 87kg 9.21 1
100° 15% [ SA R R - 116 kg I 9.22 1
140° 20% [ 911 77kg 9.01
45° 30% [ S6 [ 63 kg I 9.25 1
525 grams [ 300 grams I A A 48 cm? 1
475 grams 1 450 grams I B B 1 58 cm? 1
500 grams 375 grams [ C = C = 5800 cm?*
430 grams 225 grams [ D — D — 480 cm? 1
450 grams I 325 grams 1 E O E 72cm? 1
1.25km I 2 hours [ 2995 12 3 81 13 3
25km 3 hours [ 3.01 n+5 108 310 =
0.25 km [ 5 hours 298 1 n-7 1 243 1 2/5 1
0.125km [ 6 hours [ 3.099 n+12 162 7
25km 8 hours 31 n—12 1 324 1 12 ™/
72° 2 2a +4b=10c [ 2yz +xy [
80° 3 3 5c—a=2b 3 x(y +27) 3
60° 5 3 a=5+2b xy +xz [
108° [ 6 1| [2b-5c+a=0 O xyz
45° I 10 4b=10c—-2a | |x+2y+2z 1
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